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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I- It’s an —-—--—— to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

2-  Mr. Baker has decided to move to a big city because of a ---—-—-—- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth

3- Do you know of an alternate route we could take to ----—----- -- having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —----------
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an ----------- pessimist when he discusses the weather. For

example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to ----—-—---—- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7- I would like to compliment Jaden for the course of action he recommended because |
think it will -=-==--—-— our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

8-  An - is often expressed as a simile, as in *The football game was like a battle

between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

Bob-kiyaa  @negareh_ac  @negareh.ac.ir
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9-  There are many good reasons for not smoking, but those having to do with health are
the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
---- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

10-

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemmemme- the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -===--==-=-- it is quite
possible that it began earlier. In September 2018, scientists (13) -==-e-reemm- the
discovery of (14) ~=-emmeeees by Homo sapiens, which is estimated to be 73,000 years
old. much earlier than the 43.000-year-old artifacts (15) --==-------- to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

While international business expansion undoubtedly presents many opportunities.
there are also a multitude of challenges that companies face when deciding to operate
on a global scale. This is because today’s international business environment is largely
uncontrollable, highly uncertain and complex and constantly evolving, which exposes
companies to multiple areas of risk. As a consequence, no organization, regardless of
its size or strength is immune from a business crisis that can strike unexpectedly, and
that can have profound negative effects on its operations, can imperil future growth,
profitability. and even the company’s survival. Managers must recognize the necessity
to develop the skills to handle any threat and challenge that will inevitably arise, and
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16-

17-

18-

19-

20-

make it a priority to be ready to handle such a crisis, through careful and meticulous
preparation.

A crisis is any situation or series of events that launch a group, team or an
organization into a downward spiral, by threatening to harm people or property and
negatively impact and damage an organization. its stakeholders, or even an entire
industry if not handled effectively and efficiently, characterized by “high consequence,
low probability, ambiguity, and decision making time pressure.” and always creates
three inter-related threats: public safety. financial loss due to disruption of operations
and loss of market share, and inevitably reputation damage. because it reflects poorly
on an organization.

What does paragraph 1 mainly discuss?

1) The opportunities presented by an international business

2) The global effects of business crises

3) The challenges of an international business

4) The possibility of future growth in an international business

According to the passage, which of the following statements is true of a business crisis?

1) Being encountered with a crisis always leads to organizations’ devastation.

2) It affects not only companies, but also an entire country.

3) There is no correlation between how prepared a company is and its ability to survive in
critical situations.

4) It may happen to even the strongest and most meticulous companies.

What is the relationship between the two paragraphs in the passage?

1) The first paragraph emphasizes the process explained in the second paragraph.

2) The second paragraph elaborates on a notion presented in the first paragraph.

3) Each paragraph provides some methods employed in crisis management.

4) Both explain the causes of international business expansion and its effects.

According to paragraph 2, which of the following is a feature of a crisis in a business?

1) Low probability 2) Public safety

3) Poor decisions 4) Inappropriate priorities
The word “it” in paragraph 2 refers o --—-=-eeeeeeux,

1) crisis 2) reputation damage

3) loss of market share 4) public safety
PASSAGE 2:

The idea of agile responses to the fast changes in the external environment to
neutralize market turbulence is not new. Since the early 1990s organizational agility
was viewed by scholars and practitioners alike as an effective solution which protects
businesses in the manufacturing processes from losses and enables their survival in
conditions of unpredictable changes in the operational environment. In conditions of
uncertainty and an increasing pace of change, the ability of businesses to survive
depends on their agility in responding to the challenges of unpredictable environment.
While the importance of agility is commonly recognized. there are limited studies
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22-

23-

24-

25-

which interpret agility in context of specific and. in particular. newly emergent
industries.

Yes. especially in the newly emergent sectors of the service industry. agility is
crucial for vulnerable firms to survive in a still evolving market environment. The
newly emerging businesses are very fragile and represent an interest for managers and
scholars alike to identify success strategies in emergent business sectors. According to
the Australian Bureau of Statistics, more than 50% of all established businesses fail in
the first four years. Despite such dramatic failure rates, growing industries, such as
food service sector. as a part of the hospitality industry. still offer a lot of room for
new entrants. Growth rates in the Australian hospitality industry are predicted to
continue at 4.3% per annum through to 2020. One of the fastest growing sectors of this
industry is the small restaurant sector which is newly emerging in recent years.
Although, the Australian hospitality industry is fast growing, its players face serious
challenges attributed to common characteristics of the emerging sectors which include
increasingly complex regulatory environment, sophisticated and educated consumers.
labor challenges, skills shortages. low market entry barriers, and intense competition.
Specifically, the ongoing changes in the regulatory environment represent the most
critical challenge for firms operating in the hospitality industry.

What is the author’s purpose in the passage?

1) To trace the origin of agility in organizations

2) To describe the importance of organizational agility in uncertain environments

3) To illustrate the feeble attempts of emerging businesses to adapt to the fast changes in
the environment

4) To highlight the call for organizational agility especially in newly emergent industries

The word “turbulence” in paragraph 1 is closest in meaning to —----=ceceeeeee,

1) competition 2) turmoil 3) seizure 4) expansion

According to the Australian Bureau of Statistics, which of the following can be inferred?

1) Out of businesses established in 2001, less than half were still in business in 2005.

2) Through hospitality industry. a thriving future for organizational agility will be seen.

3) The growth rate in food service sector continues at more than 3% annually.

4) The small restaurant sector of the Australian hospitality industry did not experience
any failure in its first four years of establishment.

Which of the following best describes the function of the underlined sentence in the

second paragraph?

1) It provides reasons for what was mentioned in the preceding paragraph.

2) It encourages readers to delve deeply into the problems of newly emergent sectors.

3) It focuses the discussion of agility on newly emergent industries.

4) It points out a relationship between organizational agility and the changing nature of
business environment.

According to the passage, which of the following words would be the author’s choice to

describe the idea of organizational agility?
1) Vague 2) Vital 3) Trivial 4) Undesirable
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PASSAGE 3:

Many industrial engineers who endeavored to apply manufacturing best practices to
professional services firms regularly encountered the types of resistance that Taylor
faced: for example. people are not machines: we have been doing this and know more
about how it should be done than you; you are just trying to eliminate jobs, etc.

Taylor’s views of the workers of his day, such as “the workman... is so stupid...”.
and “almost all tradesmen are opposed to making any change in their methods and
habits...” have been discredited. However. his methodology did achieve productivity
improvements for large industrial concerns. such as The Bethlehem Steel Company. In
his extensive biography of Frederick Taylor, Kanigel (1997) gave many examples of
the application of scientific management to nonscientific realms, such as education,
libraries, and home kitchens.

Is this work relevant to management practices in the 21st century? Indeed. it can be
asserted that it is quite relevant, in both the manufacturing sector. under the auspices of
lean principles, as well as to knowledge work. The profession of applying science to
management, was known as scientific management and gradually changed to industrial
engineering over the years, becoming formalized in the late 1940°s. Kanigel suggested
that, “Taylor’s thinking... so permeates the soil of modern life we no longer realize
it’s there... He helped instill in us the fierce, unholy obsession with time, order,
productivity and efficiency that marks our age.”

While Taylor is renowned for his time studies and work measurement, he did not
start out with ideas of efficiency or economy. He was deeply troubled by what he saw
as a conflict between labor and equipment. For Taylor, it was a burning social concern.
In his own words, Taylor wrote that “the principal object of management should be to
secure the maximum prosperity for the employer, coupled with the maximum
prosperity for the employee™.

The words “maximum prosperity” were used, in their broad sense, to mean not
only large dividends for the company or owner, but the development of every branch
of the business to its highest state of excellence, so that the prosperity might be
permanent ... the greatest prosperity... can be brought about only when the work ... is
done with the smallest combined expenditure of human effort...”. Work studies and
standardized tasks became vehicles for accomplishing this.

The author mentions Bethlehem Steel Company in paragraph 2 as an example of

1) a company that did not suffer the industrial problems of its day
2) what Taylor wrote about in his biography

3) a company that benefited from Taylor’s approach

4) Taylor’s primary industrial concerns
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27- According to the passage, all of the following are true EXCEPT that —--—eeeeeeeee- .

1) Taylor believed in ensuring maximum prosperity not only for owners, but also for

staff members

2) Taylor’s attitudes towards workers of his time were critical and disrespectful

3) Taylor’s management practices have been in the market since the 1940s

4) Taylor was biased against ideas of economic growth
28- What is the Kanigel’s attitude towards Taylor’s thinking?

1) Assertive 2) Detached 3) Dispassionate 4) Supportive
29- By using the words “maximum prosperity”, Taylor meant

1) the influential role of human efforts to accomplish standardized tasks

2) the broad sense of a social concern as the main aspect of management

3) the impressive achievements of a firm as a result of progress in different sections

4) inconsiderable dividends for the company or owner leading to permanent success

30- The author suggests that work studies and standardized tasks are needed for -

1) achieving maximum prosperity 2) minimizing human effort
3) revising Taylor’s methodology 4) being successful in the 21st century
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